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program poly
implicit none

Integer, parameter :-: number = 5
real(8), dimension(O:number) :©: a
real(8) :: x, total

integer :: 1

do 1 = 0, number
write(*, *) "a(", 1,") = °
read(*, *) a(i)
end do
write(™*, *) "x =
read(™, *) X




il El0EE DEEH
o STEADIE(HE):

total = a(0)
do 1 = 1, number

total = total + a(n) * x**i
end do

write(*, *) "total = ", total
stop
end program

number
A (SR :Zi :number(n;mber+1)
i=1

EEREE (& LE) = number

number =5 D/F: FHI5BE] FIHES




Rl D EE D EH
o ZIBXDFTE(1RF) FTEEZHIM:
8, T a X + aX? + ax3 + a,x* + ax®
— ((((agx +a,)x+a5)x +a,)x+a;, )X + a,

total = a(number)

do 1 = number - 1, 0, -1
total = total * x + a(i)

end do

write(*, *) "total = ", total
stop
end program

EAERE GEE) = number
HEERE (2LE) = number

number =5 DF: FEHESE FESE
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1 ST AR

integer, dimension(5) :: a

a(l) =1

2 R IohC5

real(8), dimension(3, 0:4) t: b

b(3, 2) = 1.0D0d

3R IThLH

real(8), dimension(0:4, 8, 3) :-: cC

c(4, 8, 2) = 2.0D0

4R JTEC 5

real(8), dimension(100, 50, 50, 3) :: d

d(i, j, k, 1D = d(i, j, k, 1) + 1.0D0
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No. 1

Kamoku 1:

30
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60
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40

No. 5

Kamoku 1:

90
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85

Kamoku 3:

95
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program scorel
implicit none

integer, parameter :: number = 5

integer, parameter :-: kamoku = 3

integer :: 1, j, total
integer,dimension(number, kamoku) :: score
real(8) :: ave

intrinsic dble

I Input score data from keyboard
do jJ = 1, number
write(™, *) "No.",]
do 1 = 1, kamoku
write(*, *) "Kamoku ", 1, ":-°
read(*, *) score(j, 1)
end do
end do
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I Calculate total and average
total =0
do 1 = 1, kamoku
do jJ = 1, number
total = total + score(j, 1)
end do
end do

ave = dble(total) / dble(number*kamoku)
write(*, *) "Average = ", ave

stop
end program
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real(8), dimension(3, 3) :t: b
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do jJ = 1, number
do 1 = 1, kamoku
total = total + score(j, 1)
end do
end do

C AR

do 1 = 1, kamoku
do jJ = 1, number
total = total + score(j, 1)
end do
end do
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program poly ABDBEDLS-VIZEE
implicit none
integer, parameter :: number = 5
integer, parameter :: kamoku = 3
integer -: 1, j, total
integer,dimension(number, kamoku) :: score

FiR2: RITRICEIIOKRSSTEE
= ANT—ARZESHADIEITTELN.
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program score2

implicit none

integer, parameter :: kamoku = 3

integer -: 1, j, total, number

integer, dimension(:,:), allocatable :: score

real(8) :: ave e pes P

real(®) -- ave KESRELRE STV EIIEE S

FERESS(EH) ZHRELTL

I Input number from keyboard
write(*, *) "Number: -~
read(*, *) number

I Set size of array A
allocate(score(number, kamoku))

RES(FH) DIETE
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I Input score data from keyboard
do jJ = 1, number
write(*, *) "No.",]j
do 1 = 1, kamoku
write(*, *) "Kamoku ", 1, ":°
read(*, *) score(j, 1)
end do
end do

I Calculate total and average
total = 0
do 1 = 1, kamoku
do jJ = 1, number
total = total + score(j, 1)
end do
end do
ave = dble(total) / dble(nhumber*kamoku)
write(™, *) "Average = ", ave
stop
end program
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KE=(FERE) DIETE
al Iocate(Eﬂﬁllzﬁ(fﬁ D))
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% ./ave
Number:
10

No. 1

Kamoku 1:

30

Kamoku 2:

60

Kamoku 3:

40

No. 10

Kamoku 1:

90

Kamoku 2:

85

Kamoku 3:

95

Average = 65.3
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% ./ave < score.dat
Number :

No. 1

Kamoku 1:

Kamoku 3:

Average = 65.3
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program score3
implicit none
integer, parameter :: kamoku = 3
integer :-: 1, jJ, total, number
integer, dimension(:,:), allocatable :: score
real(8) :: ave

intrinsic dble I7ALES 10 £V LTS
open(10, file="'score.dat')

I Read number from data file

read(10, *) number IJ7M1ILEE 10 hioT—E2AN

allocate(score(number, kamoku) )

score.dat ELNVDRARID I 7AILZEELNT
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do jJ = 1, number
read(10, *) score(j, 1l:kamoku)
end do

close(10) IJ71ILES 10 ZALS
total = O
do 1 = 1, kamoku
do jJ = 1, number
total = total + score(j, i)
end do
end do

ave = dble(total) / dble(number*kamoku)

write(™, *) "Average = ", ave

stop
end program

TJ7M1ILES 10 hoT—E2 AN
(—A99 D)




2714 IV%EE<: open

o J7AIVZTVERTHI=HODESTZEMITSH

® *IJJ 5£
open(FE, file="T7MILE")

BES IEDEH. s
EBEMIZIOLL LDEBZEMFITHIENZLY

TJ7A4IVE :BOTALIM)IZHBEEIEIEFTEELS



274 ILZEAL%S: close
o J7AINADTIERERT

o FIAE

close(&7)

&S open CRHRWE=I7MILDOES
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o FIFRA
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* ZiEE T HEERIETE!

FL-LDERL

IL(REMNE)




read [ZKBDEFIT—2D AN
o HiEA: 1EZFHEIDODAN

do jJ = 1, number
do 1 = 1, kamoku
read(10, *) score(g, 1)
end do
end do

o 7iEB: FEDHTALS

do jJ = 1, number

read(10, *) score(j, 1l:kamoku)
end do
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o 11THNDT—ARZ1EDread X TE THMAIAD
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Bl LLTF DT —3%FMAH

10 20 30
40 50 60
FEANBERT D) TIEHEAZELLRE
do i =1, 2 score(1,1)I2147H
do j =1, 3 o score(1,2)I=21TH
read(10, *) score(i, })
end do
score(1,3)LAREICA AT
end o BF— KRR
7.:’_5£B(1 j_o)fn)l.. th
doi1 =1, 2

read(lO, *) score(i, 1:3)
end do




score.dat Ml

do jJ = 1, number
read(10, *) score(j, 1l:kamoku)
end do
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% ./ave > score.out
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% ./ave < score.dat > score.out
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o 7714 ILZFL% (close)

e open & close [FATTDEZEREL

o B read 95774ILE write TE5T77AILILRITED
T, TNZ 1 open, close Z1T5.
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program score3
implicit none
integer, parameter :-: kamoku = 3
integer :-: 1, jJ, total, number

real(8) :: ave
intrinsic dble

open(10, file="'score.dat")

I Read number from data file
read(10, *) number

allocate(score(number, kamoku) )

integer, dimension(:,:), allocatable ::

score
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do jJ = 1, number
read(10, *) score(j, 1l:kamoku)

end do
close(10)
total = O
do 1 = 1, kamoku
do jJ = 1, number
total = total + score(j, 1)
end do
end do

ave = dble(total) / dble(number*kamoku)

open(11l, file = "score.out')
write(™, *) "Average = ", ave
close(1l)

stop

end program
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program exl
implicit none

integer, parameter :-: number = 5
integer :-: 1, total
integer,dimension(number) :: score
intrinsic dble

total = 0

do 1 = 1, number
read(*, *) score(l)
total = total + score(i)
end do
write(™, *) "Average = ", dble(total)/dble(number)
stop
end program
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% emacs test.dat
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dOXZETRYEL TSI AL THENA

%‘m%'d'é:t%u;l%
doX % | FH i =1, n
do J =1, n
a(j, 1) = 0.0D0
end do
end do
iy
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a = 0.0D0

o —RITEIINIGE:
LERIZEEDEZRA

a = (/1.0D0, 0.2D0, -3.5D0, 0.0DO, 12.5D0/)

FMAFZIEZA
HEER

a=( @*i,i=1,5)/)

LLT® doX EFEILERK
do1 =1, 5

a(n) =2 * 1
end do
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a(2:n:2) = (/ (i, i = 1,n,2) /)
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o fi2%| a DEERDILINZETE
sum [ intrinsic TRPHEE T 5L

total = sum(a)
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integer, dimension(5, 3) :: a

read(10, *) a

write(™*, *) a
CDEE, [EDORKAFMNCEBZSIBEFTITHND
FOHITIE, AHADIEFIEZLLTDEY
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